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n Draw four lines and match each word from the text to its antonym.
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-] Name one type of wood that has been used in either of the broomsticks.

6 As with other magical equipment, such

14 as wands, there is an extensive variety of

20 broomsticks available. Here are two high-quality
26 models that Harry Potter has owned:
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28 Nimbus 2000
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35 This broomstick (which was bought for Harry
41 Potter by Professor McGonagall during his C
50 first year at Hogwarts) is a sleek and shiny ™
57 model. Upon the mahogany handle, is gold

65 writing and the bristles of the broomstick are
70 formed from neat, straight twigs.
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Compare one similarity and one difference between the broomsticks.

G

71 Firebolt

80 Considered to be a state of the art model,

86 this exceptional broomstick can reach an

94 acceleration of 0-150 miles an hour in ten

102 seconds. Birch twigs have been used in the

110 broomtail, sharpened to ensure that they are as
113 aerodynamic as possible.

n Why do you think it's important for a broomstick to be aerodynamic?




Quick Questions

Answers

6 As with other magical equipment, such

14 as wands, there is an extensive variety of

20 broomsticks available. Here are two high-quality
26 models that Harry Potter has owned:
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@ Name one type of wood that has been used in either of the broomsticks.
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35 This broomstick (which was bought for Harry
41 Potter by Professor McGonagall during his C
50 first year at Hogwarts) is a sleek and shiny

57 model. Upon the mahogany handle, is gold

65 writing and the bristles of the broomstick are
70 formed from neat, straight twigs.

Accept either one of the following: mahogany; birch.

a Compare one similarity and one difference between the broomsticks.

71 Firebolt G Pupils’ own responses, such as: The bristles in both brooms have

been made with twigs. Different wood has been used to make each

80 Considered to be a state of the art model,

86 this exceptional broomstick can reach an

94 acceleration of 0-150 miles an hour in ten

102 seconds. Birch twigs have been used in the

110 broomtail, sharpened to ensure that they are as
113 aerodynamic as possible.

broomstick.
n Why do you think it's important for a broomstick to be aerodynamic?

Pupils’ own responses, such as: I think it's important for a broomstick
to be aerodynamic in order for it to fly through the air as quickly as

possible to get to places or while playing Quidditch.




